


Arithmetic Sequences

1,3,5,7,9,11, 13, 15

LIttt t s

2,5,8,11,14, 17, 20, 23

AEEEEN




Main Ideas/Questions Notes

a sequence 1n which the same number

ArithmeHo

sequerce. 1S Tepeatedly added or subtracted.

the number repeatedly added
or subtracted; variable d




W . Determine whether the sequences are arithmetic sequences.
Idc" vt " 9‘ an If yes, identify the common difference.
Arithme+He
wm 1, 5.9 13, .~ 21358, ..
3.8,6,4,2, .. 4.-5, -8, -11, -14, ...
5.5, 10, 20, 40, ... 6.7,6,5,4, ..

One Step Further....
Write a NEXT/NOW statement for the

arithmetic sequences above.

1)1,5,9,13 Arithmetic?® or NO
Common Difference (d) = __H_' ________

NEXT = _NOWTY- _

2)1,3,5,8 Arithmetic? Yes 0

Common Difference (d)= ____________
NEXT = _______________



Given the arithmetic sequence, find the next three terms.

7.9, 13, 17, 21,;9_5,_33,_3_3
8.52 1,4~ 1~10 -153

9.-8,-2, 4, io,JLngﬂ,_a_g




Arithmetic Sequences:
THE EXPLICIT FORMULA

The »™ term of an arithmetic sequence can be found
Arithme+e using the following formula:

e | Q= Q+d(M-1)

Formula. _
“common " First ™ %Smd
Q% d('n—D-l-Q, drff. ~rm
l a3 Y
Examples: 10. 7, 13, 19, 25, ...

d=

Examples =] %ng ) (LD) R
Write the rule for | _
T N T R P

=(0(IQ—D+_| o2
: Q= LM~ +]
Q=15 "o ne)

11. 30, 26, 22, 18, ... d=

0_;—-—4%(1—1)%0

=30t @-ey) 7

4g=-409~1)+30 ! _LHHLHBD
Qq=-4Q Q= -4t 3y




12.-11,-8,-5,-2 .. 13.-2,0, 2,4, ..

a(n-1)-4
&'n&-a

15. 101, 92, 83, 74, ...

a.n*:: —5'ﬂ"{ l
Cl~n= =5 (ﬂ"‘ |



Explicit Recursive

. i " SN
Explicit Formula R TShS OIS

e T If you know any term of an arithmetic sequence

e Sfteraene Py i

prrassrnpicdasres dPmp2 and you know the common difference of the
PGmDETS. sequence, you can find the next term.

[a,, = a;+dn—-1) i

=a,  +d

______ ! aﬂ
= L\ CN EXT=NOW+d

fredtatinrm- o 08 i LM,

| Remember what it’s used for: Finding the value of any term as |
E long as you know the TERM POSITION or LOCATION.

o ST 46057 (i, Finding next term.




16. You visit the Grand Canyon and drop a penny off the edge of the dliff.
The distance the penny will fall is 16 feet for the first second,48 feet
the next second, 80 feet the third second, and so on.

a. Write a formula to represent this sequence.

Q= 3a(n-N+Ie

Q= 331 Qv
b.— How far will the penny have traveled afte
Un=3QC0)-1b = [T+

17. The total bank loan for Sarah’s pew-car is $15,265. The bank
automaticall m 295.8nth to pay off the car.

a. Write a formula to represent this sequence.

A=-390. 30N +1530%5
Un=-395.301+15940.30

b. What will be the balance of the loan afte:




